

$$S_6 = -\frac{\sin^5 x \cos x}{6} + \frac{5}{6} \left( \frac{-\sin^3 x \cos x}{4} - \frac{3 \sin x \cos x}{4} \right)$$

$$S_6 = -\frac{\sin^5 x \cos x}{6} - \frac{5 \sin^3 x \cos x}{24} - \frac{5 \sin x \cos x}{16} + C$$

$$2. \int \cos^4 x \sin^3 x \, dx = \int \sin(x) \cdot \sin^2(x) \cdot \cos^4(x) \, dx$$

$$= \int \sin(x) (1 - \cos^2(x)) \cdot \cos^4(x) \, dx$$

$$\text{Let } u = \cos(x)$$

$$du = -\sin(x) \, dx$$

$$-du = \sin(x) \, dx$$

$$= \int \sin(x) (1 - u^2) u^4 \, dx = \int (1 - u^2) u^4 \sin(x) \, dx$$

$$= \int (1 - u^2) u^4 \cdot -du$$

$$\int (u^6 - u^4) \, du = \frac{u^7}{7} - \frac{u^5}{5} + C$$

$$\frac{\cos^7(x)}{7} - \frac{\cos^5(x)}{5} + C$$

$$3. \int \cos(x) \sin(3x) \, dx = \int \sin(3x) \cos(x) \, dx$$

Recall;

$$\sin a \cdot \cos b = \frac{1}{2} [\sin(a+b) + \sin(a-b)]$$

8

$$\sin(3x) \cos(x) = \frac{1}{2} [\sin(4x) + \sin(2x)]$$

$$\int \sin(3x) \cos(x) \, dx = \frac{1}{2} \int \sin(4x) \, dx + \frac{1}{2} \int \sin(2x) \, dx$$

$$\frac{1}{2} \left\{ \frac{-\cos(4x)}{4} \right\} + \frac{1}{2} \left\{ \frac{-\cos(2x)}{2} \right\} + C$$

$$= -\frac{\cos(4x)}{8} - \frac{\cos(2x)}{4} + C$$

DATE: 30-05-2020

NAME: DEIBHIAN JESUA ENBERE O.

COURSE: MATHS 104

DEPARTMENT: T.B.B.S

MATRIC NUMBER: 19/MH301/136

### QUESTIONS

1.  $\sin^6 x$

Using reduction formulae

$$S_n = -\frac{\sin^{n-1} x \cos x}{n} + \frac{n-1}{n} S_{n-2}$$

$$S_6 = -\frac{\sin^{6-1} x \cos x}{6} + \frac{6-1}{6} S_{6-2}$$

$$S_6 = -\frac{\sin^5 x \cos x}{6} + \frac{5}{6} S_4$$

Similarly, we obtain expression for  $S_4$

$$S_4 = -\frac{\sin^3 x \cos x}{4} + \frac{3}{4} S_2$$

$$S_2 = -\frac{\sin x \cos x}{2} + \frac{1}{2} S_0$$

$$S_0 = \int \sin^0 x dx = \int 1 dx = x$$

Substitute  $S_0$  into  $S_2$ , then insert  $S_2$  into  $S_4$

$$S_4 = -\frac{\sin^3 x \cos x}{4} + \frac{3}{4} \left( \frac{-\sin x \cos x}{2} + \frac{1}{2} x \right)$$

$$S_4 = -\frac{\sin^3 x \cos x}{4} - \frac{3 \sin x \cos x}{4} + \frac{3x}{8}$$

Substitute the above  $S_4$  in  $S_6$ .